C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
) 80+4= 20 90+5=
A= e 1.
4= T o= 2,
3.
4,
3 112+8= 4) 91+7=
e P 5.
o= == 6.
7.
8.
5 70=+5= 6) 120+8=
9.
~o= T O= 10.
) 135+9= 8 180+9=
9 64+4= 100 80+5=
4= -9o=
4= o=
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 4= 2) o=
80+4 90+5 . 20
40 +4= 10 50 =5= 10
40 +4= 10 40 +5= 8 2 18
3. 14
4. 13
3) - 0= 4 - 7 =
112+ 8 ) 91+7 5 14
80 +8= 10 70 =7= 10
32 - 8 - 4 21 - 7 = 3 6. 15
7 15
8. 20
5 70+5= 6) 120+8=
9. 16
50 +5= 10 80 +8= 10
20 =5= 4 40 +8= 5 10. 16
) 135+9= 8 180+9=
90 +9= 10 90 +9= 10
45 +9= § 90 +9= 10
9 64+4= 10) 80+5=
40 +4= 10 50 +5= 10
24 4= 6 30 +5= 6
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C:# Using the Distributive Property of Division

Name:

Solve each problem using the distributive property of division.

Answers

14 15 18 16 14
15 20 20 13 16 1.
1) 80+4= 2 90+5= 2.
A= 5= 3.
4.
5,
3 112+8= 4 91+7=
e Lo 6.
8.
9.
® 70+5= 6) 120+8=
RN g =8= 10.
7 135+9= 8 180+9=
- - - 9 -
~09= +90=
9 64+4= 100 80+5=
4= ~5=

M odified
[ M ath ] www.CommonCoreSheets.com 1
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 70+ 5= 2) 136+8=
e L a_ 1.
o= o= 2
3.
4,
3 104+8= 4) b4+ 3=
o LA 5.
o= o= 6.
7.
8.
5 78+6= 6) 105+7=
9.
~0= == 10.
) 140+7= 8 68+4=
9 57 +~3= 100 133+7=

1-10 90|80 70|60 |50]40]30]20[10] O |
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) ~5= 2) e =
70+5 136+ 8 . 14
50 +5= 10 80 +8= 10
20 +5= 4 5% +8= 7 5 17
3. 13
4. 18
3) - 0= 4 =~ 2=
104+ 8 ) 54 5 13
80 +8= 10 30 +3= 10
24 +=8= 3 24 +3= 8 6. 15
7. 20
8. 17
5 78+6= 6) 105+7=
9. 19
60 6= 10 70 =7= 10
18 =6= 3 3B 7= 5 10. 19
) 140+ 7= 8) 68+4=
70 +7= 10 40 +4= 10
70 +=7= 10 28 +4= 7
9 57+3= 100 133+7=
30 =3= 10 70 =7= 10
2 +3= 9 63 +7= 9

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 2
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Using the Distributive Property of Division Name:
Solve each problem using the distributive property of division. Answers
14 13 19 13 20
18 19 17 17 15 1
1) 70+5= 2) 136+8= 2.
0= - 8= 3.
4,
5.
3) 104-+8= 4 BA+-3=
e L 6.
o= o= 7
8.
9.
5) 78 +~6= 6) 105+ 7=
- = - = 10.
) 140+7= 8 68+4=
9 57+3= 10) 133=7=

1-10 90|80 70|60 |50]40]30]20[10] O |

M odified
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 65+5= 2 51+3=
- LA 1.
To= T o= 2,
3.
4,
3) 098+7= 4 80+5=
Lo e 5.
(= o= 6.
7.
8.
5) 91+7= 6) 104+8=
9.
~ (= ~ 0= 10.
) 45+3= 8 85+5=
9) 108 = 6 = 10) 64+4-=

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 3




ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) ~5= 2) o=
65+ 5 51+ 3 L 13
50 +5= 10 30 +3= 10
15 +5= 3 21 +3= 7 5 17
3. 14
4. 16
3) 7= 4) ~5=
98+ 7 80+5 . 13
70 +7= 10 50 +5= 10
28 - 7 - 4 30 - 5 = 6 6. 13
7 15
8. 17
5) 7= 6) o=
91+7 104 + 8 . 18
70 =7= 10 80 +8= 10
21 =+7= 3 24 +8= 3 10. 16
7)) 45+3= 8 85+5=
30 +3= 10 50 +5= 10
15 3= 5 35 +=5= 7
9 108+6= 100 B4+4=
60 +6= 10 40 +4= 10
48 =+6= 8 24 4= 6

1-10 90|80 70|60 |50]40]30]20[10] O |
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Using the Distributive Property of Division Name:
Solve each problem using the distributive property of division. Answers
15 18 13 14 13
16 16 17 17 13 1
1) 65+5= 2 5B1+3= 2.
0= = 3= 3.
4.
5.
3) 08+7= 4 80+5=
~7= ~5= °
- = - = 7
8.
9.
5) 91+7= 6) 104+8=
-~ 7 = =-8= 10.
7)  45+3= 8 85+5=
~3= ~-5=
+3= ~5=
9 108+6= 100 e64+4=

1-10 90|80 70|60 |50]40]30]20[10] O |
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 84+6= 2) 162+9=
T0= +9= 2
3.
4,
3) 5B1+3= 4 120+8=
A La_ 5.
To= 0= 6.
7.
8.
5 68+4= 6) 90+6=
9.
4= 0= 10.
7) 98+7= 8 105+7=
9) 100+-5= 10) B4+ 3=

1-10 90|80 70|60 |50]40]30]20[10] O |

[ M ath ] www.CommonCoreSheets.com 4




ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) ~p= 2) —9=
60 +6= 10 90 +9= 10
24 +=6= 4 72 +9= 8 2 18
3. 17
4. 15
3 51+3= 4 120+8= 17
5.
30 +3= 10 80 +8= 10
21 - 3 - 7 40 - 8 = 5 6. 15
7 14
8. 15
5) 4= 6) —0=
68+ 4 90+6 o 20
40 +4= 10 60 6= 10
28 ~4= 7 30 +6= 5 10. 18
7 098+7= 8 105+7=
70 +7= 10 70 =7= 10
28 +7= 4 35 +7= 5
9 100+5= 100 B54+3=
50 +5= 10 30 +3= 10
5 +5= 10 24 +3= 8

1-10 90|80 70|60 |50]40]30]20[10] O |
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C:# Using the Distributive Property of Division

Name:

Solve each problem using the distributive property of division.

Answers

20 18 14 17 14
18 15 17 15 15 1
1) 84+6= 2)  162+9= 2.
~6= -0= 3.
4.
5.
3) 5B1+3= 4 120+8=
s L= 6.
- = - = 7
8.
9.
5 68<+4= 6) 90+6=
= A= ~-0b= 10.
) 98+7= 8 105+7=
- - - 7 -
=~/ = 7=

M odified
[ M ath ] www.CommonCoreSheets.com 4
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1)

3)

5)

7)

9)

Using the Distributive Property of Division Name:
Solve each problem using the distributive property of division. Answers
104+ 8= 2 70+5=
~ Q= L E— 1.
3.
4.
54+ 3= 4  90+6=
L3= P 5.
~3= —0= 6.
7.
8.
102+ 6= 6) 120+8=
9.
0= T O= 10.
76 = 4 = 8 90+5=
100 +-5= 100 112+8=
~-5= +8=
1-10 90|80 70|60 |50]40]30]20[10] O |
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 104+8= 2 70+5=
1 13
80 +8= 10 50 +5= 10
24 +8= 3 20 +5= 4 ” 14
3, 18
4. 15
3) o= 4 =
> ) 906 5. 17
30 +3= 10 60 =6= 10
24 +3= 8 30 +=6= 5 6 15
7. 19
8, 18
5 102+6= 6) 120+8=
9, 20
60 +6= 10 80 +8= 10
42 6= 7 40 +=8= b5 0. 14
) 76+4= 8 90+5=
40 +4= 10 50 +=5= 10
36 4= 9 40 +5= 8
9 100+5= 100 112+8=
50 +5= 10 80 +8= 10
50 +5= 10 32 +8= 4

1-10 90|80 70|60 |50]40]30]20[10] O |
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
18 15 13 20 14
15 19 17 14 18 1
1) 104+8= 2) 70+-5= X
- Q= 5= 3.
4,
5.
3) B4+3= 4 90+6=
L3= A= 6.
~3= ~0= 7
8.
9.
5 102+6= 6) 120+8=
~ Q= =-8= 10.
7) 76 -4 = 8) 90 +5=
9 100+5= 100 112+8=

M odified 1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ]WWW.CO 5
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 57+3= 2 85+5=
Lo e 1.
To= T o= 2,
3.
4,
3) 95+5= 4 160+ 8=
e La_ 5.
To= 0= 6.
7.
8.
5 42+3= 6) 120+6=
9.
~o= 0= 10.
) 70+5= 8 80+5=
9) 78 +~6= 10) 68 +4=

1-10 90|80 70|60 |50]40]30]20[10] O |
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) +~3= 2) o=
57+3 85+5 L 19
30 +3= 10 50 +5= 10
27 +3= 9 35 +5= 7 5 17
3. 19
4 20
3) ~5= 4) =~ 8=
95 -+5 160 +~ 8 5 14
50 +5= 10 80 +8= 10
45 +5= 9 80 +8= 10 6. 20
7 14
8. 16
5) 42 - 3= 6) 120+6=
9. 13
30 +3= 10 60 +6= 10
12 +3= 4 60 +6= 10 10. 17
7 70+5= 8 80+5=
50 +5= 10 50 +5= 10
20 =5= 4 30 +5= 6
9) 78+6= 10) 68+ 4=
60 +6= 10 40 +4= 10
18 +6= 3 28 +4= 7

1-10 90|80 70|60 |50]40]30]20[10] O |
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Using the Distributive Property of Division Name:
Solve each problem using the distributive property of division. Answers
20 17 14 16 19
17 14 19 13 20 1
1) 57+3= 2 85+5= 2.
o= =-5= 3.
4,
5.
3) O5+-5= 4) 160+ 8=
e La_ 6.
- = - = 7
8.
9.
5 42+3= 6) 120+6=
- = - = 10.
7) 70+-5= 8) 80+5=
9) 78 - 6 = 10) 68 - 4 =

1-10 90|80 70|60 |50]40]30]20[10] O |

M odified
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Using the Distributive Property of Division

Name:

Solve each problem using the distributive property of division.

1)

3)

5)

7)

9)

Answers

153+9= 2) 91+7=
~ 0= L7 1.
TYs == 2
3.
4.
162+ 9= 4 60+4=
~ Q= s A= 5.
TV T a= 6.
7.
8.
68 + 4= 6) 72+4=
A= A= 9.
AT T as 10.
102+ 6= 8) 52 -4=
90+5= 10) 112+-8=
1-10 90|80 70|60 |50]40]30]20[10] O |
[ M ath ] www.CommonCoreSheets.com 7




ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 153+9= 2) 91+7=
1. 17
90 +9= 10 70 =7= 10
63 9= 7 21 +7=_ 3 2 13
3. 18
4. 15
3 162+9= 4 e0=4=
5, 17
90 +9= 10 40 +4= 10
72 +9= 8 20 =4= 5 6. 18
7 17
8. 13
5) =4 = 6 — 4=
68 + 4 ) 72+4 . 18
40 +4= 10 40 +4= 10
28 ~4= 7 32 +4= 8 10. 14
) 102+6= 8 52-4=
60 +6= 10 40 +4= 10
42 6= 7 12 +4= 3
9 90+5= 100 112+8=
50 +5= 10 80 +8= 10
40 +5= 8 32 +8= 4

1-10 90|80 70|60 |50]40]30]20[10] O |
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Using the Distributive Property of Division Name:
Solve each problem using the distributive property of division. Answers
13 13 14 15 18
17 18 18 17 17 1
1) 153+9= ) 91+7= 2.
4,
5.
3) 162 +-9 = 4) 60+-4-=
. 4 6.
- = - = 7
8.
9.
5) 68+4= 6) 72+ 4=
= A= =4 = 10.
) 102+6= 8 B2+4=

9 90+5= 100 112+8=

M odified
[ M ath ] www.CommonCoreSheets.com 7
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) O5+5= 2) 128+8=
To= +8= 2
3.
4,
3 126+9= 4 90+5=
AL LB 5.
9= o= 6.
7.
8.
5 160+ 8= 6) 80+5=
9.
To= o= 10.
7) 70+5= 8) 64+4=
9 100+5= 10) 135+9=
~5= +-90=
- B = -9=

1-10 90|80 70|60 |50]40]30]20[10] O |
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 95+5= 2) 128+8=
1 19
50 +5= 10 80 +=8= 10
45 +5= 9 48 +8= 6 2 16
3. 14
4. 18
3 126+9= 4 90+5= 20
5.
90 +9= 10 50 +5= 10
36 - 9 - 4 40 - 5 = 8 6. 16
7 14
8. 16
5) - 8= 6) o=
160 + 8 80+5 9 20
80 +8= 10 50 +5= 10
80 +8= 10 30 +5= 6 10 15
) 70+5= 8 64+4=
50 +5= 10 40 +4= 10
20 +5= 4 24 +4= 6
9 100+5= 10) 135+9=
50 =+5= 10 90 +9= 10
5 +5= 10 45 +9= 5

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 8
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Using the Distributive Property of Division Name:
Solve each problem using the distributive property of division. Answers
16 14 16 20 20
14 15 18 19 16 1
1) 95+5= 2) 128+8= 2.
0= - 8= 3.
4,
5.
3) 126+ 9= 4) 90+ 5=
AL LB 6.
- = - = 7
8.
9.
5 160+8= 6) 80+5=
- = - = 10.
7) 70+5= 8) 64 -4 =
9 100+5= 10) 135+9=

1-10 90|80 70|60 |50]40]30]20[10] O |

M odified
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
) 126+9= 2 72+4=
L o= . 1.
+9= 4= 2
3.
4,
3) 84 +-6= 4) 60+-4=
LG A= 5.
+-06= —4a= 6
7.
8.
5 140=+7= 6) 68+4=
9.
(= Ta= 10.
) 133+7= 8 117+9=
9) 70+ 5= 100  42+3=

1-10 90|80 70|60 |50]40]30]20[10] O |
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) - = 2) - =
126 + 9 72+ 4 1 14
90 +9= 10 40 +4= 10
3% +9= 4 32 +4= 8 2 18
3. 14
4. 15
3) —0= 4 ~ 4=
60 +6= 10 40 +4= 10
% -6= 4 20 +4= 5 6. 17
7. 19
8. 13
5) = /= 6 — 4=
140 + 7 ) 68+ 4 N 14
70 7= 10 40 +4= 10
0 +7= 10 28 +4= 7 10 14
7 133+7= 8 117+9=
70 +7= 10 90 +9= 10
63 7= 9 27 +9= 3
9 70+5= 100 42+3=
50 +5= 10 30 =3= 10
20 =+=5= 4 12 +3= 4

1-10 90|80 70|60 |50]40]30]20[10] O |
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C:# Using the Distributive Property of Division

Name:

Solve each problem using the distributive property of division.

Answers

19 17 18 14 13
14 14 20 14 15 1
1) 126+9= 2 72+4= )
-9= -4 = 3.
4.
5.
3) 84+6= 4 60<4=
6= =~ 4= 6.
w6= 7= 7.
8.
9.
5 140+7= 6 68:4=
T = 4= 10.
7 133+7= 8 117+9=
- = - 9 -
9 70+5= 100 42+3=
M odified 1-10 [ 90]80|70|60[50[40[30|20|10] O |
[ M ath ] www.CommonCoreSheets.com 9




C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 128+8= 2) 140+7=
1.
-~ 8= 7=
TO0= 7= 2.
3.
4,
3 120+6= 4 90+5=
5.
0= o= 6.
7.
8.
5 80+5= 6) 162+9=
9.
To= ~J= 10.
7 64+4= 8 100+5=
+4= —o=
+4= o=
9) 0+6= 10) 85+5=

1-10 90|80 70|60 |50]40]30]20[10] O |
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 128+8= 2) 140+7=
1 16
80 +=8= 10 70 =7= 10
48 +8= 6 /0 +=7= 10 2. 20
3 20
4. 18
3 120+6= 4  90+5=
5. 16
60 +6= 10 50 +5= 10
60 +6= 10 40 +5= 8 6. 18
7 16
8. 20
5) -5 = 6 —9Y=
80+5 ) 162+9 o 15
50 +5= 10 90 +9= 10
30 +5= 6 72 +9= 8 10. 17
7 64+4= 8 100+5=
40 +4= 10 50 +=5= 10
24 +4= 6 5 <+5= 10
9 90+6= 10) 8g5+5=
60 +6= 10 50 +=5= 10
30 +6= 5 35 +5= 7

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 10
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Using the Distributive Property of Division Name:
Solve each problem using the distributive property of division. Answers
15 18 16 20 20
16 17 16 20 18 1
1) 128=8= 2)  140+7= 2.
0= = /= 3.
4,
5.
3 120+6= 49  90+5=
o LB 6.
- = - = 7
8.
0.
5 80+5= 6) 162+9=
=~ 5= =0 = 10.
7 64+4= 8 100+5=
4= ~5=
+ 4= £ 5=
9) 9N+6= 10) 85+-5=

M odified
[ Math ] www.CommonCoreSheets.com 10
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